
Acc. Geom/Algebra II


 


Name________________________

Challenge - Circles





Period_____Date_______________

Find the area of the intersection of two circles.  The equation for circle A is 
(x  2)2  (y  3)2  16.  The equation for circle B is  (x  5)2  (y  5)2  36.
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1.)
 Graph each circle in the coordinate grid. 
 Shade the area of intersection of the two circles.



 2.)   Draw 
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3.)
 Find AB to the nearest whole number.

_

4.)
 Label the points of intersection of the two circles C and D.


5.)
a)
Solve each equation for y. 


_____


b)
Graph the positive square root equation for each curve on a 
graphing calculator and find the point of intersection, C. Round 
coordinates to the nearest hundredth.


_________


c)
Graph the negative square root equation for each curve on a 
graphing calculator and find the point of intersection, D. Round 
coordinates to the nearest hundredth.




6.)
 Draw radii 
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7.)
 Find AC and BC.




8.)
 Write the equation of the line passing through points A and B.




9.)
 Write the equation of the line passing through points C and D.




10.)
 Find the intersection of 
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 and 
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, and call this point M.




11.)
 Is 
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 the perpendicular bisector of 
[image: image7.wmf]CD

, or is 
[image: image8.wmf]CD

 the perpendicular bisector of 
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?



 Explain how you know.





12.)
 Draw (DBM, and use it to find m
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__________________
        and m
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DBC.  (HINT: It requires trig…)


__________________

13.)  Draw (ADB, and use it to find m
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__________________

        and m
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DAC.  






__________________
For Exercises 14–20, round to the nearest hundredth.


14.)
 Find the area of sector BCD.




15.)
 Find the area of (BCD. 



16.)
 Subtract the area of (BCD from the area of sector BCD.




17.)
 Find the area of sector ACD.




18.)
 Find the area of (ACD. 




19.)
 Subtract the area of (ACD from the area of sector ACD.




20.)
 Find the sum of your answers to Exercises 15 and 18. 
This is the area of the intersection of the two circles.


Challenge ANSWERS
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1, 2, 4, 6,).

3.)  AB ( 7.28 ( 7


5.)  a)  
y ( 3 ( 
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 ( (x ( 2)2; 
            y ( 5 ( 
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( (x ( 5)2



b)  C (0.73 , 6.79)



c)  D ((1.08 , 0.45)


7.)  AC ( 4, BC ( 6

8.)  y = -(2/7)x + 25/7
9.)  y = 3.5x + 4.23

10.)  M (-0.175 , 3.621)

11.)  
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 the perpendicular bisector of 
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12.)  33.3°
13.)  55.5°

14.)
  20.73 square units


15.)  16.44 square units


16.)  4.29 square units


17.)  15.36 square units


18.)  7.52 square units


19.)  7.84 square units


20.)  12.13 square units
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